Mohammad Ashraf Certain polynomial identities and commutativity of rings

Mathematica Slovaca, Vol. 50 (2000), No. 1, 59--65

Persistent URL: http://dml.cz/dmlcz/136767

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 2000

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

Math. Slovaca, 50 (2000), No. 1, 59-65



CERTAIN POLYNOMIAL IDENTITIES AND COMMUTATIVITY OF RINGS

Mohammad Ashraf

(Communicated by Stanislav Jakubec)

ABSTRACT. Let m > 1, k > 0, $s \ge 0$, $n \ge 0$, $t \ge 0$ be non-negative integers and R be an associative ring (may be without unity 1). In the present paper it is shown that R is commutative if and only if it satisfies the property [x, y] = $y^s[x^n, y^m]^k y^t$, for all $x, y \in R$. Commutativity of ring with unity 1 has also been obtained if it satisfies some related polynomial identities. Finally, the result for rings with unity is extended to one sided s-unital rings.

A well-known theorem of J a c o b s o n [4] states that if every element x of a ring R satisfies the relation $x^{n(x)} = x$, where n(x) > 1 is a positive integer, then R is commutative. This result at the same time generalizes the theorem of Wedderburn that every finite division ring is commutative and also the result that any Boolean ring is commutative. Further, Herstein [3; Theorem 2] generalized Jacobson's result as follows (signified as Theorem H in sequel): if Ris a ring in which for every $x, y \in R$ there exists a positive integer n = n(x, y) > 1such that $[x, y] = [x^n, y]$, then R is commutative.

Inspired by these works we consider the following ring properties:

- (P) For all $x, y \in R$, $[x, y] = y^s [x^n, y^m]^k y^t$, where m > 1, k > 0, $r \ge 0$, $s \ge 0$, $n \ge 0$, $t \ge 0$ are fixed non-negative integers.
- (P₁) For all $x, y \in R$, $x^r[x, y] = y^s[x^n, y^m]^k y^t$, where m > 1, k > 0, $r \ge 0$, $s \ge 0$, $n \ge 0$, $t \ge 0$ are fixed non-negative integers.
- (P₂) For all $x, y \in R$, $[x, y]x^r = y^s[x^n, y^m]^k y^t$, where m > 1, k > 0, $r \ge 0$, $s \ge 0$, $n \ge 0$, $t \ge 0$ are fixed non-negative integers.

We begin with a commutativity theorem for rings with a polynomial identity hypothesis:

¹⁹⁹¹ Mathematics Subject Classification: Primary 16U80.

Key words: nilpotent element, center, associative ring, s-unital ring.

Supported by a grant from U.G.C., India, under DSA programme to the department (Grant No. F. 510/2/DSA/90 (SR-I-RBA-I)).

MOHAMMAD ASHRAF

THEOREM 1. Let R be a ring with unity 1. Then the following statements are ϵ quivalent:

- (i) R is commutative.
- (ii) R satisfies (P_1) .
- (iii) R satisfies (P_2) .

For the ring R, the symbol Z(R), N(R) and C(R) will denote respectively the centre, the set of nilpotent elements and the commutator ideal. For any $x, y \in R$, as usual [x, y] = xy - yx.

In order to facilitate our discussion we state the following well-known lemmas, which are essentially proved in [6; p. 221], [9], [7] respectively.

LEMMA 1. Let $x, y \in R$ such that [x, [x, y]] = 0. Then $[x^k, y] = kx^{k-1}[x, y]$ for all positive integer k.

LEMMA 2. Let R be a ring with unity 1 and $f: R \to R$ be a function such that f(x + 1) = f(x) holds for all $x \in R$. If there exists a positive integer k such that either $x^k f(x) = 0$ or $f(x)x^k = 0$ for all $x \in R$, then f(x) = 0 for all $x \in R$.

LEMMA 3. Let f be a polynomial in n non-commuting indeterminates x_1, x_2, \ldots, x_n with coprime integral coefficients. Then the following are equivalent:

- (i) For any ring satisfying f = 0, C(R) is a nill ideal.
- (ii) For any prime p, $(GF(p))_2$ fails to satisfy f = 0.
- (iii) Every semi-prime ring satisfying f = 0 is commutative.

Now we prove the following:

LEMMA 4. Let R be a ring satisfying either of the properties (P_1) or (P_2) . Then $C(R) \subseteq N(R)$.

Proof. Let R satisfy the polynomial identity (P_1) . We see that $x = e_{11} + e_{12}$, $y = e_{12}$ fail to satisfy this equality in $(GF(p))_2$, p a prime. Hence by Lemma 3, we get the required result. On the other hand if R satisfies (P_2) , then use similar arguments with the choice of $x = e_{12} + e_{22}$, $y = e_{12}$ to get the required result.

It is easy to see that every commutative ring R satisfies the properties (P_1) and (P_2) . Conversely, if a semi-prime ring R satisfies either of the properties (P_1) or (P_2) , then the above lemma together with the Lemma 3, yield that R is commutative. This proves the following:

THEOREM 2. Let R be a semi-prime ring. Then the following statements are equivalent:

- (i) R is commutative.
- (ii) R satisfies (P_1) .
- (iii) R satisfies (P_2) .

LEMMA 5. Let R be a ring with unity 1 satisfying either of the properties (P₁) or (P₂). Then $N(R) \subseteq Z(R)$.

Proof. Let R satisfy the property (P₁), and let $a \in N(R)$. Then there exists an integer $q \ge 1$ such that

$$a^{\ell} \in Z(R)$$
 for all $\ell \ge q$, q minimal. (1)

If q = 1, then for each such a, the result is obvious. Therefore, assume that q > 1. Now replace y by a^{q-1} in (\mathbf{P}_1) , to get

$$x^{r}[x, a^{q-1}] = a^{(q-1)s}[x^{n}, a^{(q-1)m}]^{k}a^{(q-1)t}$$

Now in view of (1) and the fact that $(q-1)m \ge q$ for m > 1, we obtain that $x^r[x, a^{q-1}] = 0$ for all $x \in R$. Using Lemma 2, we find that $[x, a^{q-1}] = 0$, i.e. $a^{q-1} \in Z(R)$. This contradicts the minimality of q in (1). Thus, q = 1 and $a \in Z(R)$. Using similar arguments we can prove the result if R satisfies the property (\mathbf{P}_2) .

Proof of Theorem 1. Obviously (i) implies (ii) and (iii). Now we show that (ii) implies (i).

If R satisfies the property (P_1) , then using Lemmas 4 and 5, we have

$$C(R) \subseteq N(R) \subseteq Z(R) \,. \tag{2}$$

Suppose that k > 1. In view of (2), (P₁) can be written as

$$x^{r}[x,y] = [x^{n}, y^{m}]^{k} y^{s+t} .$$
(3)

Now using (2) and (3), we find that for any positive integer β

$$\begin{aligned} x^{r+knr+k^{2}n^{2}r+\dots+k^{\beta-1}n^{\beta-1}r}[x,y] \\ &= x^{knr+k^{2}n^{2}r+\dots+k^{\beta-1}n^{\beta-1}r}[x^{n},y^{m}]^{k}y^{s+t} \\ &= x^{k^{2}n^{2}r+\dots+k^{\beta-1}n^{\beta-1}r}(x^{nr}[x^{n},y^{m}])^{k}y^{s+t} \\ &= x^{k^{2}n^{2}r+\dots+k^{\beta-1}n^{\beta-1}r}([x^{n^{2}},y^{m^{2}}]^{k}y^{m(s+t)})^{k}y^{s+t} \\ &= x^{k^{2}n^{2}r+\dots+k^{\beta-1}n^{\beta-1}r}[x^{n^{2}},y^{m^{2}}]^{k^{2}}y^{(s+t)+mk(s+t)} \\ &= x^{k^{3}n^{3}r+\dots+k^{\beta-1}n^{\beta-1}r}[x^{n^{3}},y^{m^{3}}]^{k^{3}}y^{(s+t)+km(s+t)+k^{2}m^{2}(s+t)} \\ &\vdots \\ &= [x^{n^{\beta}},y^{m^{\beta}}]^{k^{\beta}}y^{(s+t)+km(s+t)+k^{2}m^{2}(s+t)+\dots+k^{\beta-1}m^{\beta-1}(s+t)} .\end{aligned}$$

Thus in view of (2) and Lemma 1 the above yields that

$$x^{r+knr+\dots+k^{\beta-1}n^{\beta-1}r}[x,y] = (n^{\beta}m^{\beta}x^{n^{\beta}-1}y^{m^{\beta}-1})^{k^{\beta}}[x,y]^{k^{\beta}}y^{(s+t)+km(s+t)+\dots+k^{\beta-1}m^{\beta-1}(s+t)}$$

But since commutators are nilpotent, hence we find that

$$x^{r+knr+\cdots+k^{\beta-1}m^{\beta-1}r}[x,y]=0\,,$$

and by Lemma 2, R is commutative. Henceforth, we shall consider the remaining possibility that k = 1, which gives

$$x^{r}[x,y] = y^{s}[x^{n}, y^{m}]y^{t} \quad \text{for all} \quad x, y \in R.$$

$$\tag{4}$$

Now choose positive integer $\alpha = 2^{m+s+t} - 2 > 0$ such that $\alpha x^r[x, y] = (2y)^s [x^n, (2y)^m](2y)^t - x^r[x, 2y] = 0$. Application of Lemma 2, yields that $\alpha[x, y] = 0$. Now in view of (2) and Lemma 1, we see that $[x^{\alpha}, y] = \alpha x^{\alpha-1}[x, y] = 0$ for all $x \in \mathbb{R}$, i.e.

$$x^{\alpha} \in Z(R)$$
, for all $x \in R$ ($\alpha = 2^{m+s+t} - 2$). (5)

Now application of Lemma 1, (2) and (4) several times, yields that

$$(1 - y^{(m-1)(s+t+m-1)})[x, y^m]x^r$$

$$= x^r[x, y^m] - y^{(m-1)(s+t+m-1)}my^{m-1}[x, y]x^r$$

$$= x^r[x, y^m] - my^{(m-1)^2}y^{m-1}y^{(m-1)(s+t)}y^s[x^n, y^m]y^t$$

$$= x^r[x, y^m] - my^{m(m-1)}y^{ms}[x^n, y^m]y^{mt}$$

$$= x^r[x, y^m] - y^{ms}[x^n, y^{m^2}]y^{mt}$$

$$= 0.$$

Apply Lemma 2, to get $(1-y^{(m-1)(s+t+m-1)})[x, y^m] = 0$. Now replacing x by x^n in the last equation we have $(1-y^{(m-1)(s+t+m-1)})[x^n, y^m] = 0$, which yields that $(1-y^{(m-1)(s+t+m-1)})[x^n, y^m]y^{s+t} = 0$, i.e. $(1-y^{(m-1)(s+t+m-1)})[x, y]x^r = 0$. Again by Lemma 2, we find that $(1-y^{(m-1)(s+t+m-1)})[x, y] = 0$. This implies that $(1-y^{\alpha(m-1)(s+t+m-1)})[x, y] = 0$ (α being as in (5)). In view of (5) the last identity can be rewritten as $[x, y - y^{\alpha(m-1)(s+t+m-1)+1}] = 0$, for all $x, y \in R$. Hence by Theorem H, R is commutative.

Using similar arguments, it can be easily shown that (iii) implies (i). \Box

Remark 1. The existence of non-commutative ring R with R^2 being central rules out the possible generalization of the above theorem for arbitrary rings.

Remark 2. In the proof of Theorem 1, (ii) implies (i) could have been obtained by [8; Theorem]. But, we preferred to provide a direct proof with a view to preparing some ground work for the following theorem, which establishes commutativity of arbitrary rings.

THEOREM 3. A ring R (may be without unity 1) is commutative if and only if R satisfies the property (P).

Proof. Obviously, every commutative ring satisfies (P).

Conversely, assume that R satisfies the property (P). A careful scrutiny of the proofs of Lemmas 4 and 5 shows that they are still valid in the present situation, and hence we have

$$C(R) \subseteq N(R) \subseteq Z(R) \,. \tag{6}$$

If k > 1, then for an arbitrary integer β , using similar techniques as used in the proof of Theorem 1 we have

$$[x, y] = [x^{n^{\beta}}, y^{m^{\beta}}]^{k^{\beta}} y^{(s+t)+km(s+t)+\dots+k^{\beta-1}m^{\beta-1}(s+t)}$$

Now application of Lemma 1, yields that

$$[x,y] = \left(n^{\beta}m^{\beta}x^{n^{\beta-1}}y^{m^{\beta-1}}\right)^{k^{\beta}}[x,y]^{k^{\beta}}y^{(s+t)+km(s+t)+\dots+k^{\beta-1}m^{\beta-1}(s+t)}$$

But, since commutators are nilpotent, the above yields the required result. On the other hand if k = 1, then (P) can be written as

$$[x,y] = y^{s}[x^{n}, y^{m}]y^{t} \quad \text{for all} \quad x, y \in R.$$
(7)

Now, apply similar techniques as used to get (5), we have

$$x^{\alpha} \in Z(R)$$
 for all $x \in R$ $(\alpha = 2^{m+s+t} - 2)$. (8)

Now using Lemma 1 and (7) repeatedly, we have

$$\begin{split} [x, y^m] - y^{(m-1)(s+t+m-1)}[x, y^m] &= [x, y^m] - y^{(m-1)(s+t+m-1)}my^{m-1}[x, y] \\ &= [x, y^m] - my^{m(m-1)}y^{ms}[x^n, y^m]y^{mt} \\ &= [x, y^m] - y^{ms}[x^n, y^{m^2}]y^{mt} \\ &= 0 \,. \end{split}$$

This yields that $y^s \{ [x, y^m] - y^{(m-1)(s+t+m-1)}[x, y^m] \} y^t = 0$, and in view of (7), we find that $[x, y] = y^{(m-1)(s+t+m-1)}[x, y]$. This implies that $[x, y] = y^{\alpha(m-1)(s+t+m-1)}[x, y]$ (α being as in (8)). Now application of (8) gives that $[x, y - y^{\alpha(m-1)(s+t+m-1)+1}] = 0$, and hence R is commutative by Theorem H.

Remark 3. Particularly, for s = 0, t = 0, the above theorem reduces to Theorem 2 of [2].

In view of Remark 1, Theorem 1 cannot be extended to arbitrary rings. However, we extend Theorem 1 to a wider class of rings called *s*-unital. A ring

MOHAMMAD ASHRAF

R is called *left* (resp. *right*) *s*-unital if $x \in Rx$ (resp. $x \in xR$) for all $x \in R$. A ring *R* is called *s*-unital if and only if $x \in Rx \cap xR$ for all $x \in R$. If *R* is *s*-unital (resp. left or right *s*-unital), then for any finite subset *F* of *R* there exists an element $e \in R$ such that ex = xe = x (resp. ex = x or xe = x) for all $x \in F$. Such an element *e* is called a pseudo-identity of *F*. Our next result states as follows.

THEOREM 4. A left (resp. right) s-unital ring R is commutative if and only if R satisfies the property (P_1) (resp. (P_2)).

Proof. Every commutative left (resp. right) s-unital ring satisfies the property (P_1) (resp. (P_2)).

Conversely, let R be a left (resp. right) *s*-unital ring satisfying (P₁) (resp. (P₂)), and *y* be arbitrary element of *R*. Choose an element $e \in R$ such that ey = y (resp. ye = y). Replace *x* by *e*, to get

$$e^{r}[e, y] = y^{s}[e^{n}, y^{m}]^{k}y^{t}$$
 (resp. $[e, y]e^{r} = y^{s}[e^{n}, y^{m}]^{k}y^{t}$).

If k = 1 this yields that $y = y(e + y^{s+t+m-1} - y^{s+m-1}e^ny^t) \in yR$ (resp. $y = (e - y^s e^n y^{m+t-1} + y^{s+t+m-1})y \in Ry$), since m > 1. On the other hand if k > 1, then we find that $e^r[e, y] = 0$ (resp. $[e, y]e^r = 0$), i.e. $y \quad yc \in yR$ (resp. $y = ey \in Ry$) for all $y \in R$. Therefore, R is right (re p left) s unital. Thu, R is s-unital, and by Proposition 1 of [4], we can assume that R has unity 1. Hence, R is commutative by Theorem 1.

Remark 4. Notice that in the above theorems, the $ex_1 + ent_1 + ent_1 + ent_1$ conditions are assumed to be 'global'. It would be inter that the full of the alize these results for the case when they are as used to be 'le cli enter incertain they depend on the pair of elements x, y for their values

Acknowledgement

The author is greatly indebted to the referee for his valuable ugeest ons.

REFERENCES

- [1] ASHRAF, M QUADRI, . A On r nut with f t B l A still Math. Soc. **38** (1988), 267 71.
- [2] BELL, H. E.: On some con nutativity theorems of Herstein Aich I ti Bi I 24 19⁻⁻, 34 38.
- [3] HERSTEIN, I. N.: Two remarks on commutativity of rings, Canad. J. Math. 7 (195⁻), 411–412.

- [4] HIRANO, Y. KOBAYASHI, Y.—TOMINAGA, H.: Some polynomial identities and commutativity of s-unital rings, Math. J. Okayama Univ. 29 (1982), 7-13.
- [5] JACOBSON, N.: Structure theory of algebraic algebras of bounded degree, Ann. of Math. 46 (1945), 695–707.
- [6] JACOBSON, N.: Structure of rings. In: Amer. Math. Soc. Colloq. Publ. 37, Amer. Math. Soc., Providence, RI, 1964.
- [7] KEZLAN, T. P.: A note on commutativity if semi prime PI-rings, Math. Japonica 27 (1982), 267–268.
- [8] KOMATSU, H.: A commutativity theorem for rings-II, Hiroshima Math. J. 22 (1985), 811–814.
- [9] NICHOLSON, W. K. YAQUB, A.: A commutativity theorem for rings and groups, Canad. Math. Bull. 22 (1979), 419–423.

Received February 27, 1996 Revised April 16, 1998 Department of Mathematics Aligarh Muslim University Aligarh-202 002 INDIA